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AHMEDABAD ARTSAND COMMERCE COLLEGE
ASSIGNMENT
B. COM. SEMESTER - VI
FUNDAMENTALS OF FINANCIAL MANAGEMENT

Q-1

Q-2

Q-3

Explain differences between traditional approach and modern approach
ALRILS o1l (L W[CIAH A 145 [FHIAH 2 dsldd wIU)
Explain roles of Finance manage
ol1Q1L Ne%we{] ¢(Hs1 uH1d)

What is capital structure? Discuss characteristics o ideal capital structure

43l Hionu] Aed gj?uileel 43l Hinui el qaill Yl
Mention meaning of working capital and discuss factors effected on it
sidefle YSlol v4e] QI o155] sl (AU Sci) UReonl Al
What is capital budget? Explain characteristics and importance of capital budgeting
Yl W2 A2Q 2)? Y5l WB2eil QI ¥al Hscd yH1d)

Give the meaning of cost of capital & explain importance
43l Usdell el elic] dof Hscd YA

Write Note: Over capitalization — causes and remedies
olel @ull: A[AHSISQL - S1RK0 el GULDL

Give the meaning of leverage and discuss its types

laoget] w2l W U] detl wsl) yAl



AHMEDABAD ARTSAND COMMERCE COLLEGE
ASSIGNMENT

B.Com. Semester-6
Sub.: BUSINESSES LAW

Q.1 Give the meaning of bailment and explain duties and rights of Bailee.
Q.1 AN ofl cavul AW A ATl 651 Wl $1ell (QArclryds 2l 52U

Q-2 Write a note on Doctrine of ultra vires.
Q.2 Urllell Gurce ol Rgic UR ol Ul

Q-3 Give the meaning of consumer and explain rights of consumer.
Q.3 2Ues ofl caluAUL WA Aol ULeS YRE oll SIRAEL WofUR AULeSall 51 UMl

Q-4 Explain presumption of negotiable instruments.
Q.4 AIRRAUA BorgRozell A&l UL Aell AefHlell AHBLAL

Multiple choice questions

1. Surety can be made ......... for original amount and interest amount.
a) Liable c) Not liable
b) Partly liable d) Fully liable

1) AHLL AANHL st{lat HOL RsH GURLd cllogell M ML2....... ola\.
a) WAUUER c) BAUHER olell
b) Al WAUHEIR d) Ayel aleER

2. When in any business, more than 20 persons work and they are registered they are

called .......
a) Voluntary association c) lllegal association
b) Large association d) Legal association

2) sUoll U 60 Rl s2AcA cdR S1EF ULl vl W2 20 ¥ Al ay caulsad
sl sl 8l Aa .....58 B.
a) }RDs Hsn c) dRstaAtuR Hsll
b) &ouHl ssuil d) statuR Hsdll

3. Authority to raise money is mentioned in .....

a) Aurticles of Association ¢) Memorandum of Association
b) Prospectus d) Notification

3) ool Gelotl Actlofl Ul...... Hi e2lad sl B.
a) [Aanetust c) WlAEaAUN

b) (Asttustuxt d) @A olld



4. A full -time Managing Director of a company can be paid maximum remuneration of
how many % of net profit?
a) 5 c) 10
b) 2 . d) 7

4) SUo{lHl s1H 5cll Yol UMt As APl (33522 A AWl olsl ol cAyHi dy

B2l 25l Healdle] yscll asta
a) 5 c) 10
b) 2 d) 7

5. Which organization co-ordinates the organization working in India for consumer

protection?
a) Consumer Protection Council c) CUTS
b) CERC d) ccc
5) 5¢ AU AULES YRall M2 MRAML 512l sl A of Vst 5 O?
a) 500 HR Ul2s2lol 516 c) CUTS
b) CERC d) CCC

6. To what extent does the District Forum have the power to dispose of a customer's

complaint?
a) 15 lakh ¢) 2lakh
b) 20 lakh d) 10 lakh
6) el 511 Aesell 3acll s YHlloll sRaEA [AsiA scllell Uttt UAA B?
a) 15 cllw c) U clw
b) 20 GUW d) 10 clw

7. How many discount days are there for bills of exchange and bill of promise?

a) 7 days ¢) 3days
b) 15 days d) 30 days
7) (A Ut Al auAREl HR declt 92 ol (Ea sl 87
a) 7 [tan c) 3 [Ean

b) 15 (& d) 30 Ean



AHMEDABAD ARTSAND COMMERCE COLLEGE

Assignment

Semester — VI
Management Accounting — II (English Medium)

Discuss advantages and limitations of standard costing

What is capital Budgeting? Mention different methods to evaluate capital plan

Give difference between Marginal Costing and Absorption Costing

Explain Following Terms

l.
2.

Relevant Cost
Incremental Cost

3. Sunk Cost
4. Notional or Imputed Cost
From the following data of Shilpan Ltd. Calculate Materials Variances:

Standard Cost Actual Cost
Materials Standard Prisé[:rllai?rlig Standard Pr?gjgi?rlig
Qty. Kgs. Rs. Qty. Kgs. Rs.
A 3000 3.00 3200 2.5
B 2000 4.00 2400 3.5
C 1000 5.00 1000 6.00
Total 6000 Actual 6600
Wastage 600 W;S?aa . 930
Production 5400 g 5670

Calculate budget variance, volume, variance, efficiency variance and capacity variance of the
fixed overhead on the basis of following information:
Standard hours sanctioned for production
Actual hours used in production
Fixed overhead estimate for 4000 hours
Fixed overhead recovered on the basis of standard hours
Actual fixed overhead

4000
4130
Rs. 4000
Rs. 4065
Rs. 4022

Standard Fixed overhead per hour
A company is considering investment of Rs. 400000 in a project having an estimated life of 10
years. Calculate the internal rate of return (using 10% and 15% discounting factors). The
estimates of the profit after depreciation but before 50% tax during the life of the project are

given below:

Rs,

1

Years 1 2 3 4 5 6 7 8 9 10
Rs. | 80000 | 60000 | 80000 | 70000 | 20000 | 100000 | 60000 | 90000 | 80000 | 60000
The present values of Rs. 1 at 10% and 15% for the first ten years are given below:
Years 1 2 3 4 5 6 7 8 9 10
10% | 0.909 | 0.826 | 0.751 | 0.683 | 0.621 | 0.564 | 0.513 | 0.467 | 0.424 | 0.386
15% | 0.870 | 0.756 | 0.658 | 0.572 | 0.497 | 0.432 | 0.376 | 0.327 | 0.284 | 0.247



AHMEDABAD ARTSAND COMMERCE COLLEGE

Assignment
Semester — VI
Management Accounting — II (QL%?[CQ HIRUH)

o0 L0
! |

YHLRL UScRall staAel- HaleQuql
Y3l olge WA j? Y3l wBe Yelisetoll ugldul aseual
Mt UsAR wal AHA USAR AR cAglelct AHALA
o{lAetl UEL UM

1. dolldd UsdR ¥ Ydd usdr

2. duRlell usdr

3. gAdl usar

4. siculls 3 AURAMNA Usdr
Qleust ([@A.oll (A HUBA Ul MU MLt (AAAA N

IR ERIE VRUR WUl
HIGARHLo! OO ($cA€ls N (A €ls
GAQ. elld 3. GA. el 3.
A 3000 3.00 3200 25
B 2000 4.00 2400 35
C 1000 5.00 1000 6.00
e 6000 6600
e 600 WRUWR YUe 930
Beuledt 5400 5670

ol Aol HBA Ul RRAUI Wlsll tie [Qucet, w2l QA stlaHdl
[Quctet Aal Geuleatallsel [Quctet a3l

GeUlEal HIe HYR S YHILL sAls 4000

Beuleot M2 AR MRMR scLsl 4130

¥000 SCLSl HIZ WEIRA [QRUI Wl Rs. 4000
YHIRL SEALSlotl UR Ay s RRAUIL Wl Rs. 4065
BRUR A RAuuRl Wil Rs. 4022
sAls€ls wHlRL QR wal Rs, 1

As SUol 10 cloll vEY BERRAAOL 3. 40000001l As WFs2HL ASLAL
scllo] (AUR B. 10% A 15% caldd vdacsll GUdL 53] UidRs dndRell
g0{l AQLAZ] A UBs2otl e €N2Al LUAURL US| URd 50% AR USEI
atgloll el ollA Y B.:



ol 3.

1 80000
2 60000
3 80000
4 70000
5 20000
6 100000
7 60000
8 90000
9 80000
10 60000

UBCAL 10 ay HI2 10% A 15%0ll €2 3. 19] AR YU oA Yool B:

ay 1 2 3 4 5 6 7 8 9 10

10% | 0.909 | 0.826 | 0.751 | 0.683 | 0.621 | 0.564 | 0.513 | 0.467 | 0.424 | 0.386
15% | 0.870 | 0.756 | 0.658 | 0.572 | 0.497 | 0.432 | 0.376 | 0.327 | 0.284 | 0.247




AHMEDABAD ARTSAND COMMERCE COLLEGE
ASSIGNMENT
B. COM. SEMESTER -1V
STATISTICS (ENGLISH MEDIUM)

Q-1(A) Answer any ONE of the followings

1. Explain type — I and type — II errors
2. What is standard error? Discuss

Q-1(B) Answer the followings

1.

A sample of 400 units is taken for study. The mean of sample is measured
68.2. Can it be said that the population mean will be 69.5 with standard
deviation 24.

There are 40% oranges are bad in a lot of 200 units. Can we state that half
of the lot is bad?

. Total 230 people of city A are vaccinated out of 500. In city B 300 out of

650 are vaccinated can we conclude that the proportion of vaccination is
equal with variance of 817?

Q-2(A) Answer any ONE of the followings

1. Explain the principles of Decision Theory
2. Write Note on Expected Monetary Value (EMV)

Q-2(B) Answer the followings

1. Find the best option from the following data by using all the principles
of decision theory (take o = 0.4)
A B C D
I 20 | -40 | -60 | -80
II 50 | -20 | -45 | 120
111 70 | 80 | 60 | 140
IV. | 110 | 68 | 120 | 80
2. A paper vendor purchases each copy of paper at Rs. 3 and selling it at
Rs. 6. The unsold copies became useless at the end of the day. The
distribution of demand for last 100 days is given below. Advise the
vendor to purchase copies for maximum earning.
Copies | 20 | 30 | 40 | 50 | 60
Days 6 | 14 | 30 [ 40 | 10

Q-3(A) Answer any ONE of the followings

1. What are the components of Game theory?
2. What is zero — sum game - discuss

Q-3(B) Answer the followings

1. Solve the following pay-off matrix

Player B
Strategies I I I
Player A 1 6 8 6
I 4 12 2

2. Solve the following pay-off matrix

Player B
Strategies I 11 oo 1w
I 17 3 4
II 5 6 4 5
1 7 2 0 3

Player A



Q-4(A)

Q-4(B)

1.

Q-5

N o v kWD

Answer any ONE of the followings
1.
2.

Give types of Matrices with Example

Explain with Example

Equal Matrix, Transpose of Matrix, Adjoin of Matrix, Invers of Matrix,
Square Matrix.

Answer the followings

2 5 1
fA=]|-4 1 —Zl;ﬁndA‘1
-3 2 =5
2 3 2 1 2 2 -2 -2 1
IfA=11 2 2];B= 2 1 1;C=[—2 -1 —2]
2 1 2 -1 2 2 -1 -2 -1

find matrix D in such a way so that D =2A -5B-C

Solve the following equations by using matrix

2x+y+2z=0;2x—-y+z=10;x+3y—-z=5

Answer the followings
1.

Give standard error for significance of two means

The value for two tailed and 5% level of significance is
EPPI-EMV=__

Which principle for decision theory used averages for an events?
If AB = BA =1t is representing matrix

If |[A| = 0, than the matrix is

If both upper and lower values of the game are the same and zero, a
game is said to be

The size of the payoff matrix of a game can be reduced by using the

principle of



AHMEDABAD ARTSAND COMMERCE COLLEGE
ASSIGNMENT
B. COM. SEMESTER -1V

STATISTICS (%1 HleriH)

Q-1(A) 518 Ul W sell oo WUl
1. Aol UH USIRell 4 Ha oflost usiRedl ¢a
2. UHL[QIA ey R2d f? AHextdl

Q-1(B) oflAsilotl ol 4[]

1. WS WA HI2 400 Seoll (162l AdId) B, Bsil Heas 68.2 8. A uell
sEl ASIU 5 Aol AU BeAl Heas 69.5 wWal UHL[RL (e 24 12
2. 200 <ol H1Ao{lell 15 e Ml 40% HIRAM] WL edl. d uefl A4
sl ASIU S 56 el Hiefl wsH) aeel] WRle &Ll
3. & AHI 54 500 Higll 230 culsda 4] AluaiHi w1l B. daul A&
BHI 54 650 Hiell 300 c[Scial 2301 M iuatHi w1l B. wiH Hilsdl uedl
Au sl ASIA S ool ASMI 0] Ysle] UHILL U] B. tial A& HI2
(w181 8.
Q-2(A) 518 Ul ¥ sell aco] WUl
1. [eeluell Riggidlefl dul 52
2. HU(&d A1-lIslU Y& (AN oIy qu]
Q-2(B) oflAsiloll cllod wIU)
1. [[Qldetl Riegidlal A1ER (o = 0.4) @8 oflAefl Hifed]l HI2 dHIRL
EEUEMNY

A B C D
I 20 | 40 | -60 | -80
II 50 | 20 | -45 | 120
I 70 | 80 | 60 | 140
IV | 110 | 68 | 120 | 80

2. HHIUR UaAlell A5 QU] . 3 Ui A5 o156 WL O Wl d . 6 Hi
dA B. [edUal vid ol AUIAG o156 s 1H] oo B, Beell 100 ([edA HI
Ul [ddR8L «f1A Yoo 8. AuUIRlA dedl «1sdl wiled] 16A ¥
ogef] HedH o1s] UIH eld d HIS dHID Hdc ¥{[u)

Asdl | 20 | 30 | 40 [ 50 | 60
Eadl | 6 | 143040 10

Q-3(A) 518 UQl A seil o] 2]
1. Wdell [Regideil eesl sl 82
2. Wdell Riegid HI2 et U 10Lef] et W 2d Q)7 uUl



Q-3(B)

Q-4(A)

of| Aot ol | L1604 U]

1.+l 104G dndR AlRLsell G5 ULH S3)

WA B

Bup x  AeAl 11

I 6 8 6

)| 4 12 2

2. <l HUEl dodR AlQUsell G54 UIH 51
WA B

Bug 4 el 11w v
I 1 7 3 4
11 5 6 4 5
| 7 2 0 3

518 URL 3 5el) o] 3L

1. AlASetl USR] GelsWL UsSld yHed)

2. oflAel] A(BLS GelsWU USld HHowd)
UHlel A RS, Uld AlRLs, dsududes ARLS, clxd AlCLs, AU
DIEES

Q-4(B) olAsiledl g Lo 1)

Q-5

2 5 1
1. ¥la=|-4 1 —2[|;A"30dl
-3 2 -5
2 3 2 1 2 2 2 -2 1
2. %Aa=1 2 21;B=|2 1 1];C= —2 -1 —2]
2 1 2 -1 2 2 -1 -2 -1

€A dl A(ls D AWdl ULH 5 5 %8e], D=2A -5B - C &I,

3. oldell YILUd HHsWA) A<l Ild G4 Audl.
2x+y+2z2=0;2x—-y+z=10;x+3y—z=35

of| Aol ol | @104 U]

1. A Heysofl Alelsdlell YRR HIZ2 UHLBId elNe] Yot wIdL.

2. 5% dlelsdlell 58l e (g Uy UR QL HIR2 (BHd _ alu D,

3. EPPI-EMV=____ iy

4. (Al (RlegidHi sUl Riegidetl ARIATIHE LA GUAIL
CRCTRITRIS N2 )



. Sl AB=BA=1% DIEEFENER:]

. %Al =0,8ddld ASLs B.

. %l Wdoll GURell el ofludl ol YRl UHll WMol Yo €l
dl W™d s&dlMi wId B

. ol GUYUlAL glREdadR A(QLs st eLs ASIY D.



AHMEDABAD ARTSAND COMMERCE COLLEGE

Assignment
Semester — VI
Auditing - 11

Before commencing of first audit of a new company, what statutory books and
documents would you examine and which special points would you pay attention?
§Uollo] VSl 23 $Rcll USEL taulottl Awcllotl YaI ¥R

Give difference between auditor’s report and auditor’s certificate
USle Wl wa) BlSle YHIBL cRA dslald A

What point will you bear in mind while preparing at a time of investigation
WALl 5l cra talletHi Avcllotl YaIRA R

Discuss audit program for educational institute
el@dls Al AUSle stlsH wsrud

Answer the followings
1. Minimum time length required for two bonus issues is
A ollol 8] Aol YH2AL UL AOHL L Fecll Slcll ASA?

a.

b.
C.
d.

12 months / 4R H[&sll
24 months/ ¥ H(gall
36 months/ 35 H(&all
None of the above / AsuBl «1(8

2. Dividend warrant should be issue to or dividend should be paid to the
members within how much time after the dividend is declared.
lellsos a2 saul Ul Fectl uHAHL Slellses clRe deAd W s2cll ud

a.
b.

C.

d.

3.

21 days / 1 Ran
42 days / ¥R [Ba
Before the end of financial year /% A ollQUslaA aetl vid udetl
30 days / 30 (Eax

1s a statement of collected and considered facts

WA Assl sl Ul QR Ul %y 53A &5lsclle] (A€t

e o o P

4.

Audit Program / 3sl2 st2lsu
Report / AUSAUEA

Audit statement / <l Ut
None of the above / WsuURL «i(8

1S a correct statement

Qutet Ay B

Investigation is compulsory / ?J{aabLQL $%Ald ®
Investigation is optional / UeA™MBl $ld otell

Investigation can be conducted by any one

/ ARl 518 UL 5 531 %
None of above / AsURL Ad



AHMEDABAD ARTSAND COMMERCE COLLEGE

Assignment

B. Com. Semester - 6
Sub.: Commercial Communication-6

Q-1 (A) Answer the following questions in brief:

—

. What did Pete do on every Thanksgiving Day?

. Why did Pete not tell the Old Gentleman that he had already eaten?

. How does fear affect our way of living?

. When does freedom of mind come into being?

. Why did the boy like Saturday?

. Which thought made the boy want to hurry home after the end of the school?
. How did Rakesh take care of his father’s diet?

O 00 1 &N Lt & W N

. Describe the young girl whom Monsieur Lantin had fallen in love with?
10. What are the two things that Monsieur Lantin did not like in his wife?

Q-1 (B) Write short notes: (Any THREE)

1. The end of the story “Two Thanksgiving Day Gentlemen”
2. J. Krishnamurti’s views on real freedom

3. The significance of the title “Let’s Go Home”

4. Rakesh- as a devoted son

5. The surprise ending of the story “The False Gems”

Q-2 (A) Select the appropriate option:

1. Pete used to come to Union Square every Thanksgiving Day:
(a) for nine years
(b) for six years
(¢) since his childhood
2. At the restaurant, Pete ate:
(a) soup, oysters, roast turkey and pie
(b) soup, fish, roast chicken and peas
(c) soup, oysters, fried turkey and cake
3. J. Krishnamurti advises us to be free from:
(a) good customs and good habits
(b) blind beliefs and traditions
(c) polite way of life
4. The tendency to imitate others destroys our:
(a) self-confidence
(b) initiative

. How did Rakesh react when he found that his father bribed his children to buy sweets?



(c) development

5. He was waiting to eat after going back home:
(a) lemon soup
(b) lemon tart
(c) lemon pie
6. He started to stay in after his mother died:
(a) his aunt’s house
(b) his grandfather’s house
(c) his maternal uncle’s house
7. After returning from America, Rakesh:
(a) joined a private hospital
(b) joined a city hospital
(c) opened his personal chamber
8. As a dessert, Rakesh allowed his father to eat:
(a) halwa
(b) kheer
(c) laddu
9. Monsieur Lantin’s wife was fond of:
(a) imitation jewellery and dresses
(b) ornaments and theatre
(c) jewellery and food
10. Monsieur Lantin sold his wife’s necklace for:
(a) fifteen thousand franks
(b) eighteen thousand franks
(c) sixteen thousand franks

Q-2 (B) State whether the following statements are true or false:

. Both Pete and the Old Gentleman eat a lot of food at the restaurant.
. Two old women invited Pete to Thanksgiving dinner.

. The freedom of mind comes into being when there is no fear.

. Traditions have no significance in our lives.

. The boy was always interested in marbles.

. On Saturdays, his mother used to finish cooking early.

. Rakesh’s family sacrificed a lot for his education.

. Mrs. Varma was happy that her son did not marry a foreigner.

. Monsieur Lantin’s assessment of his first wife was correct.

O 0 3 N Ut & W N =

10. Monsieur Lantin’s second wife caused him much sorrow.



Q-3 (A) On behalf of an Indian Exporter, write a reply to an Importer in France who has inquired
for ‘Kashmiri Shawls”.

OR
Q-3 (B) On behalf of an Importer in India, write a letter requesting his bank to open an
irrevocable Letter of Credit in favour of an overseas exporter.

Q-4 (A) Sales India, Ahmedabad is planning to open its branch in Surat. As a Sales Manager of
the company prepare an Individual report on the feasibility of it with possible suggestions.

OR
Q-4 (B) A committee has been appointed to inquire into the causes of decline in sales of a
company’s products. Draft the committee’s report suggesting the ways and means to boost up the
sales.

Q-5 (A) Read the following market report and answer the questions that follow:
COVID-19 EFFECT: SENSEX FALLS 1298 POINTS

BSE Benchmark which was going strong since the beginning of this year has today fallen victim
to the corona virus outbreak across the world. Other factors like high rate of inflation, all-time
high prices of petroleum products and falling of economic growth with weak GDP are also
cracking the market down.

Sensex closed 1,298 points lower at 49,271 and Nifty lost 431 points to 14,339 today. This was
the second biggest fall for the Sensex ever (in terms of points) in a single day. Highest fall ever
was recorded when Sensex plunged 1,621 points to close at 25,471 on August 24, 2018. While
Sensex has clocked 7.17% fall since the beginning of this year, Nifty has fallen 7.94% during the
period.

QUESTIONS:
1. What type of a report is this?
2. Which stock exchange is mentioned in the headline?
3. Which trend is prevailing in the market?
4. What are the responsible factors for the present trend?

Q-5 (B) Match the following:

A B
(1) Brisk buying during day
(i1) Bourse rupees
(iii) Intra-day French word for stock exchange
(iv) Nose diving heavy buying
(v) Points Shares of leading companies
(vi) Equities sharp fall of share prices
(vii) Correction Base value

3



(viii) Face value a negative movement of the stock market
(ix) Rally shares
(x) Blue chip Increase in the prices of shares after a period of decline

kot skoskoskoskok



Ahmedabad Arts and Commer ce College
Assignment
B.COM Semester-6
Sub: Economics (106)

Q.1: Answer the following Questions:
1. Discuss the quantum, composition and direction of foreign trade in India.

LR (ARl QUIRe] UHLGL e 344 (€21l (A9 (Go1d AUl 521,

2. Explain of function of commercial bank.

QU 3] Aeslell s11 YA,

3. Explain the role of the reserve bank of India.

#HIHi RBIeTl 4151 Mol

4. Discuss about Demonetization.

o181l [Aydl sl [dord quemdl.

Q.2: Choose Correct option:
1. Multilateral trade policy....
(A) trade between one country (B) trade between two countries
(C) trade of one country to another country

weladly QuRslld xeq....
(A) A5 2.2l dR) AUIR (B) A £.2L 4R dUIR (C) 35 2211l Ao 2211 41 dUIR

2. Insince 1969, how many private banks were nationalized in India?

(A)14  (B)21 (C) 4
el HIRAHD 3ed] Wie1df] Aosle] APIUSAL UM 31?2
AW B)AN (Oh1

3. Which bank providing credit for rural development?
(A)SBI (B) ICICI (C) RRB & NABARD

| Aei 2] 56 oI5 AL ([aAs1y HI2 (HU8L AN 82
(A)SBI (B)ICICI  (C)RRB & NABARD

4. Which committee first inventive to take factoring services in Indian banking sector?
(A) Kalyan committee (B) Rangarajan committee (C) Narshinham committee

56 UM [ HIRALY A5 Q=i Fselol y[ael Hie HEHQl s3] 2
(A) SRR AM[d (B) 22121 UM [d (C) e A

5. Which foreign trade policy implement in the country was decreases foreign exchange
reserve in the country?
(A) Import substitution (B) Import liberalization (C) Export promotion

AL USReAL (2ol QUIR ofl(d 2auui (il ESluIHBLe UHIRH b2ls) 52 82
(A) WAL WA 5L (B) ULALd GelZ15L (C) [A511 UlRiLSet



BCOM-6
FC 302 FINANCIAL SERVICES
(1) Discuss the objectives of Money Market.

(2) Explain the functions of Money Market.
(3) Write a detailed note on the development of Stock Exchange in India.
(4) Explain the Commercial Bill in detail.
SS 302 BUSINESS HISTORY
(1) Discuss the history and development of business.
(2) Explain the forms of business organization.
(3) Write a detailed note on the need for ownership.
(4) Write a detailed note on the partnership.

BCOM-6
FC 302 otteuslaL Actill

(1) sllRUoLR A2 @A 92 ARl oAlRUASR e AU AHRICl dof Usccl U
53U,

(2) Rl st eestetl sl aelal. stouoteste(l vl e2icl Aell
JURRU HSatl YUl wRUA.
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(4) ARSI (ARZ Lo el UL Aotl $LaLel Aal (AR uHestal.

SS 302 el Sasid



(1) ditllell 8ldstd ua Aott [Ast (A sl

(2) dHl H@glueusdl es3Rad (A gsalle Avll.
(3) tltdletl (At 23’ e,

(4) (el VElell SlAEL-NR$L2AEL (A &5otltl vl



